Info Gap: The Bundle

The Bundle

Data Card 1

The Bundle

Problem Card 1

e The cloth in the bundle is a rectangle.

e The cloth in the bundle is 18 feet by 4 feet.

e The head wrap is made from a rectangle of cloth
that is 2 feet by 6 feet.

e The lapais made from a rectangle of cloth thatis 7

A bundle of wax print cloth is purchased. Some is used to
make a head wrap and some is used to make a lapa.
The rest goes to the tailor to make a shirt.

How much wax print cloth goes to the tailor to make a

shirt? feet by 4 feet.
The Bundle The Bundle
Problem Card 2 Data Card 2

e The piece of cloth used for the lapa is a rectangle.

e The piece of cloth used for the lapa is 7 feet by 4
feet.

e The bottom of the shirt is 3 feet long.

Ribbon is sewn around the perimeter of the lapa and the
bottom of the shirt.

How much ribbon is needed altogether to decorate the
lapa and the shirt?



